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>expand((m 2)- (m—l m—l— m—l-i-I)
i m—6m — 44+ 15m° —20 +14m 0 €))
> Ecuacion = dlﬁ” x$5 —6-diff (y(x),x$4) + 15-diff (y(x), x$3) — 20-diff (y(x), x$2)
+ 14-diff (y ) —4-y(x) =0
& qd* & K
Ecuacion = — y(x) =6 | — y(x) | +15 | —5 »(x) | —20 > y(x) Q)
dx dx dx d’
+ 14 (%y(x)) —4y(x) =0
=> Solucion = dsolve( Ecuacion)
i Solucion:=y(x) = Cl e+ C2e'4+ C3e'x+ C4¢e"sin(x) + C5 e cos(x) &)
| > restart

> j&f [ %z+ A % —0

> Ecuacion = diff (y(x), x$4) + 8-diff (y x$2 +16-y(x) =0

Ecuacion = c?x4 y(x) +8 ( sz y(x )j + 16 y(x) =0 4)
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Solucion = dsolve( Ecuacion)
Solucion :=y(x) = Clsin(2x) + C2cos(2x) + C3sin(2x) x+ C4cos(2x)x )
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